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Laws of Motion

A 70-kilogram astronaut has a weight of
560 newtons on the surface of planet
Alpha. What is the acceleration due to

gravity orpranet AipraT P
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The speed of a car is increased uniformly
from 20 meters per second to 30 meters
per second in 4.0 seconds. The magnitude
of ff "“"ayerage acceleration in this
4.0-sdcong interval is

A 52
B|2 5 m/s?
C10'm/s2
I 16 pYis?

A roller coaster, traveling with an initial
speed of 15 meters per second,

decelerates uniformly at -7.0 meters per
5 :

Which term represents a scalar quantity?

A distance
. n @)

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

\.
per second. The time during which the
ball is in free fall is approximately

Als ||

B 2s B

G 058 |
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Al go it with &n initial/'velocity of
1S:melers persecensatangngle of 35

degrees abuoye the'horizontal. What is the
vertical component of the golf ball’s initial
velocity?

A 8.6 m/s
B 9.8m/s
C 12m/s
D 15m/s

Kmmmnmarﬁ
6.3 minutes, and the final kilometer in

6.0 minutes. The average speed of the
runnerforthe race is approximately

A 6 kmy 1
B 33-erf) n
C kra/min

D

km/min &?

[fthediresijon af & mavingcaf chalges
and its speed remains constant, which
quantity must remain the same?

A velocity

B momentum
C displacement
D kinetic energy
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The speed of a car is increased uniformly
from 20 meters per second to 30 meters
per second in 4.0 seconds. The magnitude

of ff "“"ayerage acceleration in this
4.0-s4cond in‘erval is

A 52

B 2.5 m/s?

C10'm/s2

I 16 pYis?

A roller coaster, traveling with an initial
speed of 15 meters per second,

decelerates uniformly at -7.0 meters per
5 :

Which term represents a scalar quantity?
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per second. The time during which the
ball is in free fall is approximately

Als =
B 2s
C 5%
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Al go it with &n initial/'velocity of
1S:melers persecensatangngle of 35
degrees abuoye the'horizontal. What is the
vertical component of the golf ball’s initial
velocity?

A 8.6 m/s
B 9.8m/s
C 12m/s
D 15m/s

A

Kmmmnmarﬁ
6.3 minutes, and the final kilometer in

6.0 minutes. The average speed of the
runnerforthe race is approximately

A 6 kmy 1
B 33-erf) n
C kra/min

D

km/min &?

[fthediresijon af & mavingcaf chalges
and its speed remains constant, which
quantity must remain the same?

A velocity

B momentum
C displacement
D kinetic energy
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